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a. 1 and'®
c. -1 and -2/2

The roots of equation 92 —g,

ardial z 3_ b
quadraty . 2 ' a0 : .
' betrodl : MTP Oct 21
* (20) The roots of the equation x> —x +1=0are
] a. Imagi
+25=0 b. Reazg;mmu:lmw
these C 2
PApr2 d.__
0 will be o , MTP
(21) If one root of the QE is2+[3, the equatio.n is .
a. f—4x+1=0 b. x*+4x+1=0
v .  x*-4x-1=0 d. Noneofthese
EM 4 oD ?;.:»‘ S R ;'
=0is2, @) If a and B are the roots of the equation

x* +7x+12=0,then the equation whose roots
(a+ B)’ and (a — B)’ will be:
a.  xX*-14x+49=0
b X' —24x+144=0
¢  x*-50x+49=0
d. x2—19+1440 =

‘ If the ratio C &y
4 —6x+p= Ots‘:zmmthevalueofpxs.

b

5) Ifmolsofequatipnx’uﬂ-()mamﬁa"d

* o’ +B’ =—6. Find the valueof "

PR b. 713
413 d s

26)  If one root is 522 +13z +y is 0 be reciprocal of
C  the other, then the value of y is

@ Compiler - Quantitative Aptitude Edition 4

"G2) If the ratio of the roots of the Equation

’ (33) Ifanthmetmmeanbehoeenmotsofaquadmtw

e i
d. 49
MTP Dec 22 Series I

(28) Fmdthevalueofkm3x2 —2kx+5=0 ifx=2.

a 174 b, -7/14
¢ Al dot 2Ll 4 (o
- L 1P fun 23 SeHei T

zcequattonls 2-43

LRl

(29) If one oot of th

¥ +4x-1=0
f+4x+1 0

31)
b*d

PR Lok
If x=3*+3%and y=3* —3* then the value
3(x* +y* ) will be
a. 12 b. 18
d. 64

4x? —6x+p=0is 1:2 then the value of p is:
a. 1 B2
s A R S Sl

* equatwms8andthegeomeb‘tcmeanbetwem
them is 5, the equation is
0. x-16x-25=0 b. x'—16x+25=0

x2—16x+5=0 d. Noneof these

C.
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a -3 b2
e s d 4
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Problems on Cubic Equations

: ;MgickTest-Paper Questions ,‘ »

(1) ifap, yare the roots of equation
' —4x* +x+6=0 then the equation having

a X —4x" +x+6=0
b. 4x’ —6x" +x-1=0
c 6x’ +x° —4x+1=0
d  6x*—x"+4x-1=0
Note: Out of syllabus —gpu can leave t

A

a.

&)

@  Roots of the equation x°* +9%* ~x—9=0.
R o biid Lnd
¢ . i1 e L008

() The roots of the cubic eq. ¥’ —7x+6=00re:
a. 1,2and3 b. 1,-2and3
o 1,2 and -3 d 1 -2and-3
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